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Show that is divisble by 8. If n is an odd positive integer.

State Elucid division Lemma.

Find the HCF of 65 and 117 and express it in the form 65m +117n.

Prove that V7 is an irrational number.

Three bells toll at intervals of 9,12,15 minutes respectively . If they start tolling together
at 9:am ,at what time will they next toll together.

Prove that v3+V5 is irrational.

Find the largest number that will 398,436 and 542 leaving remainders 7,11 and 15
respectively.

If the zeroes of the polynomial x 2+px+q are double in value to the zeroes of 2x*-5x-3,
find the value of p and q.

Find the zeroes of the polynomial f(x) 4\/§x2 + 5x—2\/§ and verify the relationship b/w
zeroes and coefficients
If are the zeroes of the quadratic polynomial f(x) kx> +4x+4 s.t o’ + f*. Find the
values of k.

If two zeroes of polynomial.f(x) x* — 6x° —26x> +138x —35 are2++/3 find other zero
Find the values of a and b so that x* + x* +8x” + ax + b is divisible by x* +1.

What must be added to f(x) 4x* + 2x” —2x* + x—1 , so that the resulting polynomial is
divisible by x* +2x -3
Divide the polynomial f(x) 3x> —x* —3x+35 by the polynomial g(x) x* + 7x+10
Prove that there is no natural number for which 8" ends with the digit zero.

Find the HCf of 1760, 4048,3632 and 7608.

Use Euclid’s division Lemma to show that the cube of any positive integer is of the form
9m, 9m+1 or 9m+8.

Form the pair of linear equation and solve graphically. 10 students of class X took part
in a quiz. If the girls are 4 more than the number of boys. Find the number of boys and
girls who took part in quiz.

A boat cover 25Km upstream and 44KM downstream in 9hrs. And 22 KM downstream
in 5hrs. Find the speed of the boat in still water and of stream.

Find the fraction if the sum of numerator and denominator of a fraction is 18. If the
denominator is increased by 2, the fraction reduce to 1/3.

The sum of a two digit number and the number formed by interchanging the digit is 132.

If 12 is added to the number, the new number becomes 5 times the sum of the digits.
Find the number.

6 7
Solve for x and y = +3wherex—y #0
X+y x-—y

! = ! wherex+y # 0

2(x+y) 3(x—y)

Find two numbers such that the sum of thrice the first and the second is 142 and four
times the first exceeds the second by 138.

If then find whether the pair of linear equation ax+by=p and xx+dy =q has no solution
unique solution or infinitely many solution

. If 12x+17y = 53 and 17x+ 12y =63 then find the value of x+y.




Maths Assignment- 2
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Solve equation graphically

X-y=1,2x+y =8 shade the region bounded by two lines and y-axis. Find vertices of angle
and area of angle.

Solve 991x + 397y=197, 397x — 991y= 2397

In angle ABC. Zc =34B =2( LA+ £B) findangle/A+ ZB

A two digit numbers is obtained by either multiplying sum of the digit by 8 and adding 1
or by multiplying the difference of digits by 13 and adding 2 . Find the number.

If equation has infinitely many solution find k equation are Kx + 3y=K-3, 12x + Ky = K.
Solve (a-b)x +(a+b)y= a* —2ab +b*

(a+b)(x+y)= a* + b* By elimination method and cross multiplication method

Find a,b if equation has infinite many solution of x+2y =1, ax-bx+ay= a+b-2-by

The income of A and B are in the ratio 8:7 and their expenditure are in the ratio 19:16.
If each saves Rs. 1250, find their income.

In cyclic quadrilateral angle A =-4x , angle B =-7x+5, angle C =4y+20, angle D =3y-5 find
each angle.

90% and 97% pure acid solution are mixed yo obtain 21 liters of 95% pure acid solution
. Find each type of acid to be mixed to form the mixture.
The perimeter of a rectangle is 200 cm. The ratio of sides is 3:5. Find length and
breadth.

The ages of two boys are in the ratio 5:7. 8 years ago their ages were in the ratio 7:13.
Find the present age.

2.3 _,4
ey T
Solvex+y:2xy&l—l:—6
Xy

Solve

ax+by =1

Solve a+b)2
bx+ay+l1=-—-"2
4 a’ +b’



SST
Assignment-1

1. Explain the classification of resources on the basis of the state of development
and on the basis of. Origin. On the basis of Exaustability.

2. Discuss the problem which have been caused due to over utilisation of

resources.

How do over irrigation and minning leads to land degradation.

Explain the major factors which are responsible for the formation of soil.

Difference between Bangur and Khadar soil.

What is sustainable economic development?suggest any two ways in which

resources can be used judiciously.

What is soil erosion? Explain the major types of soil erosion prevailing in India.

Explain the four proper farming techniques which can be used for soil

conservation.

9. Suggest some of the stepswhich can be undertaken to control land degradation.

10. Explain the Human activities which are responsible for land degradation in India.

11. What is the importance of natural resources? Why is it necessary to conserve
them.

12.How is climate themost important factor in soil formation?Explain two reasons.

13. What is the main criteria used by the world bank in classifying different
countries? What are the limitations of this criteria?

14. What may be development for one may not be development other explain by
giving example.

15. In what respect is the criteria used by the UNDP for measuring development
different from the one used by the world bank.

16. Why do we use averages are there any limitations to their use?illusttrate with
example.

17.Kerala with lower per capital income has better human development ranking
with Punjab.Hence per capita income is not a useful criteria at all.

18. Why is the issue sustainability important for development?

19. The earth has enough resources to méet the need of allbut not enough to satisfy
the greed of even one person. How this statement relevant to the discussion of
development

20. Mention four characteristics od development.

21. Difference between Human and Economic Development

22.What is development and national development

23. What is sheet erosion and Gully erosion

24. India has enormous diversity in the availability of resources explain.

25.What is resource planning. Mention the steps which are involved 8n resource
planning
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SST

ASSIGNMENT 2

1.Write Note on (a)Giuseppe Mazzini. (b) Count Camillo de Cavour

2. The Greek war of Independence(a) Frankfurt Parliament

3. What steps did the French revolutionaries take to create a sense of collective
identity among the French people?

4. Who were Marianne and Germania? What was the importance of the way in
which they were portrayed?

5. Briefly trace the process of German unification.

6. Briefly trace the unification of Italy.

7. Briefly trace the unification of Britain.

8. What changes did Napaleon introduce to make the administrative system were
efficient in territories ruled by home?

9. What did Nationalist tensions emerge in the Balkons?

10.What was the treaty of Vienna?

11.Who was Otto Van Bismarck? Explain his role in the Unification of Germany.
12.Explain the role of language in developing the nationalist sentiments in
Europe.

13.How did culture play an important role in creating the ideas of the nation in
Europe?

14.Explain the theme of Frederic Sorrieu’s paintings.

15.The 1830s were the years of great Economic hardships in Europe. Give



English
Assignment

Answer these questions

1. What did the display of jets and military salute symbolise?

2. What did he mean by ' my brothers and sisters’

3. How did the yearning for freedom transform greatly?

4. How did the policy of apartheid create a deep and lasting wound on South African
Blacks.

5. How does the tyrant become a prisoner himself?

6. Why did the thief change his name every month? How did he rob people? OR How
did the young seagull’s family celebrate his first flight?

7. How was Hari’ Singh appealing smile at the end different from similar smiles of his on
earlier occasion s? OR How did the parents of the young seagull try to teach him how to
fly?

8. | which queer way did Anil make a living? OR When did the seagull’s flight begin and
where did it end? 9. Anil was the most trusting person he had ever met. What made
Hari think so? Did he betray that trust?

OR

Who do you hold responsible for the delay in the young seagull’s learning to fly?

10. Hari missed the Lucknow express. What was his consideration?

OR
How did the black aeroplane rescue the pilot of the Dakota?
11.Gap filling
| do not have (a) friends. Being a man of (b)___ words, people hesitate(c)
spend their leisure hours in (d) company.l € a lot of time in developing

new friendships.

1(a) (1) much. (ii) many. (iii) more. (iv) few

2(b) (1) more. (ii) a lot of. (iii) few. (iv) less

30 (1) for. (li) but. (iii) to. (iv) in

4(d) (1) my. (ii) mine. (iii) the. (iv) our

5(e) (1) took. (ii) will take. (iii) take. (iv) have taken

Writing

Ques. You bought a cardless phone online from a reputed website. On checking the
instruments , you found the phone to be faulty and want it to be replaced at the
earliest.

Write a letter to the complaining about the same . You are Neha/ Manoj Arora living at
39, Jawahar Nagar , Udaipur Ques. Write an article on Right to Education Act.



Hindi Assignment-1
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Hindi
Assignment -2
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Science
Assignment
Chemistry

1. What is Chemical Reaction?
2. On what basis is a Chmeical equation balanced
. Write a balanced chemical reaction sodium chloride and

silver nitrate indicating the physical state of the reactant and
the products.

. What are the various in which a chemical equation can be

made more informative.

. Identify the type of reaction in the following examples

(a) Na,SO, +BaCL, — BaSO, +2NaCL
(b) N,+3H, —2NH,
(c) 2pb(NO,), — 2 pbO +4NO, + 0,
(d) Zn+2A4gNO, — Zn(NO,), +2Ag
Using balanced Chemical equation explain the difference
between a displacement reaction and double



Q1Define:

¥ Reactants

¥ Products

¥ Balanced chemical equation.

Q2 Balance the following chemical equation
and identify the reactants and products.

a. Zn(s)+_____ AgNO3 (aq) -
Zn(NO3)2 (agq) + ____Ag (s)

b.___ _N2(g)+____ _H2(g) — ____ NH3
(9)

c.______Mg(OH)2 (aq) + ___H3PO4 (aq)
- ____H20 () + Mg3(P04)2(aq)

d.__ HNO3(ag)+____ Ni(s) —
Ni(NO3)2 (aq) + _____ H2 (g)

- Ba(HCO3)2 (s) — BaCO3 (s} ,
______H20(g)+____CO02(q9)

f.____ BaCl2 (aq) + Na2S04 (aq)
NaCl (aq) + BaS04 (s)

g.______Al2(C03)3(s) - _____AlI203 (s) -'
____C02(g9)

h._ __Ca(s)+____ H20() —




Biology
Assignment

1. What is the difference between breathing and respiration.

2.write down the name of sound producing organ in man?

3.What is the role diaphragm in respiration

4.What is anaerobic respiration? What happen during anaerobic respiration in
yeast?

5. What is the specific reason for muscle cramps that are caused due to sudden
physical activity?

6. Name the three carbon compound formed during anaerobic respiration in
muscle.

7.(a) write the use of cartilaginous rings in trachea?

(b) what prevents entry of food particles into wind pipe?

8. The air entering our nose is generally cold and contains dust particles. How is
the air made warm and free of dust particles inside the respiratory tract?
9.What is the significance of residual volume of air that lungs always contain?
10.What are adaptations in plant leaves to satisfy the oxygen requirement for
aerobic respiration?

11. During the respiration of an organism A one molecule of glucose produce
2ATPmolecule where as in the respiration of organism B, one molecule of glucose
produce 38ATPmolecule.Which of the organism A or B has anaerobic respiration?
Suggest any other major difference between anaerobic and anaerobic
respiration.

12.Explain the role of alveoli in the lungs with respect to its structure and function
13.What are different pathways in which glucose is oxidized to provide energy in
various organisms? Explain the mechanism by which breathing occur in human
beings including inspiration and expiration

14.Draw a neat well labeled diagram depicting human respiratory system



Physics

Assignment

1.Write down the formula for the heat produced when a current is passed through a
resistance R for time t.

2 How does the heat H produced by a current passing through a fixed resistance wire
dependon the magnitude of current | ?

3 If the current passing through a conductor is doubled, what will be the change in heat
produced ?

4 State three factors on which the heat produced by an electric current depends.

5 Give two applications of the heating effect of electric current.

6 Name two devices which work on the heating effect of electric current

7 Which effect of current is utilized in an electric bulb ?

8 Which effect of current is utilized in the working of an electric fuse ?

9 Explain, why the current that makes the heater element very hot, only slightly warms
the connecting wires leading to the heater.

10 Two exactly similar heating resistances are to be used connected across a mains
supply to heat some water. Is more heat obtained per minute if they are connected in
series or if they are connected in parallel ? Give reasons for your answer.

11 The current passing through a room heater has been halved. What will happen to the
heat produced by it.

12 State and explain Joule’s law of heating.

13 Name the material which is used for making the filaments of an electric bulb.

14 Explain why, tungsten is used for making the filaments of electric bulbs.

15 Name two gases which are filled in electric bulbs.

16 Explain why, argon or nitrogen is filled in an electric bulb.

17 Why is an electric bulb not filled with air?

18 Why does the cord of an electric heater not glow while the heating element does?
19 Explain why, filament type electric bulbs are not power efficient.

20 An electric iron of resistance 20 ohms a current of 5 amperes. Calculate the heat
producedin 30 seconds.

21 An electric heater of resistance 8 ---- takes a current of 15 A from the mains supply
line.Calculate the rate at which heat is developed in the heater.

22 A resistance of 40 ohms and one of 60 ohms are arranged in series across 220 volt
supply.Find the heat in joules produced by this combination in half a minute.

23 Aresistance of 25---- is connected to a 12 V battery. Calculate the heat energy in
joules generated per minute.

24. 100 joules of heat is produced per second in a 4 ohm resistor. What is potential
difference across the resistor?

25 An electric iron is connected to the main power supply of 220 V. When the electric
iron is adjusted at ‘minimum heating’ it consumes a power of 360 W but at ‘maximum
heating’ it takes a power of 840 W. Calculate the current and resistance in each case.



